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Run 4567 quartetwise, AsymsQ0: All

quartetwize_asymi
B Eniries 2715
B Mean  -0.008856
B StdDev  0.04838
_I | | L1 1 1 | 1 1 | |L 1 1 | L1 1 1 | L1 1 1 | L1 1 1 | L1 1 1 | L1 1 1
-1 0.5 0 0.5 1 1.5 b 2.5

HelAccO/NegHelNSamples0)/{PosHelAccO/PosHelNSamplesd + NegHelAccO/NegHelNSamples0)

Run 4567 quartetwise, Asyms0: Beam ON, Laser ON
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Run 4567 quartetwise, Asyms0: Beam ON, Laser OFF
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Run 4567 quartetwise, Difts0: All
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Run 4567 quartetwise, Diffs0: Beam ON, Laser ON
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Run 4567 quartetwise, Diffs0: Beam ON, Laser OFF

quanebwise_beami_last diif

Entries 0
Mean 0
Std Dewv 0




Run 4567 quartetwise, NegHelAccO/NSamplesQ: All
quartetwize_negHQ
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Run 4567 quartetwise, NegHselAccl/NSamplesl: Beam ON, Laser ON
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Run 4567 quartetwise, NegHelAcc0/NSamplesQ: Beam OFF
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Run 4567 quartetwise, NegHselAcclVNSamples0: Beam ON, Laser OFF
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Run 4567 quartetwise, PosHelAccO/NSamplesC: All
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guartetwise posHO

Entries 27131
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Run 4567 quartetwise, PosHelAccO/NSamplesd: Beam ON, Laser ON
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Run 4567 quartetwise, PosHelAccO/NSamples0: Beam OFF
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Entries 929
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Run 4567 quartetwise, PosHelAccO/NSamplest: Beam ON, Laser OFF
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Run 4567 quartetwise, Sums0: All
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Run 4567 quartetwise, Sums0: Beam ON, Laser ON
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Run 4567 quartetwise, Sums0: Beam OFF
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Run 4567 quartetwise, Sums(: Beam ON, Laser OFF
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